4.4 CW.gwb - 1/12 - Thu Nov 15 2018 11:39:20

4.4 - Solving Multi-Step Inequ@
2

ocabulary: g ‘ 'i JQ 3
:J Dlsttz*lllute j \Lj (>( " %)>

¢ Like Terms LYZ d 7
~, * Isosceles Tr1a j %X 1L ‘l

— o Congruent Sldes

g WM HO TS Hhoct are Qonﬁﬁﬁih\f\

SCV’V\




4.4 CW.gwb - 2/12 - Thu Nov 15 2018 11:46:42

1 EXAMPLE SOIV?% + 4p <-_2\;|5
ey
1

=z




Solve each inequality.
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m The band is making a rectangular banner that is_20 feet long

with trim around the edges. What are the possible widths the banner
can be if there is no more than 48 feet of trim?
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11. The perimeter of an isosceles triangle 1s at most 27cm. The base
1s 8cm long. Find the possible lengths of the two congruent sides.
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Homework: pg. 222 #2, 6, 10, 12, 16, 24, 30, 32, 36, 46, 48, 88




